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‘Multiply Decimals by Integ

1. Match the calculations o the correct answers below.

A[553x5 ] B[794x3] c[s73x4)
h ot o+t h
(22 22785 s(me2 )

2. A bag of sand weighs 7.437kg. How much would 6 bags of sand weigh? Circle the
comect bar model below.

44.632g
A
L T T T 1
44.622kg
5
L T T T T
44.621kg
c.
[T T T 7T
3. Charles has 3 different He wants fo the total of

each delivery. He says,

-

&

Is Charles comect? Explain how you know.

Delivery 1 Delivery 2

L

1827 1283k "%k

From heaviest fo
lightest, the order of
the deliveries should
be3, 1 and then2.
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Sa. Match the calculafions fo thelr
products.

5b. Match the calculafions fo thelr
products.

152x7 2046 | 397x5 2512
838x2 4896 | e28xa 5484
5.44x9 1064 | 9.14x6 58.24
682x3 1676 | 728x8 19.85
¢ b
Sa. True orfalse? b Trus orfalse?
486 x 6=29.61 259x7=19.13
¢ g
7. Use <, > or = fo complele the 7. Use <.> or = fo complele the
stotements below. stotements below.

7.16x4 D 28.64
36.31 D 392x8

the bar below.
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